Geometry H Name: Key
7.1 (continued) — Pythagorean Theorem Extended Date: N Period:

Connecting Pythagorean Theorem to Algebra...
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b) To prevent a ladder from shifting, safety experts recommend that the ratio of a:b be 4:1. How
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far from the base of the wall should you place the foot of a 10-foot ladder? Round to the
nearest inch.
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A small commuter airline flies to three cities whose locations form the vertices of a right
triangle. The total flight distance (from City A to City B to City C and back to City A) is 1400
miles. Itis 600 miles between the two cities that are furthest apart. Find the other two

when X=6¢1Y - distances between cities. Toral perinetey = 1400 miles
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